FUNDAMENT - BUDYNEK "B" - INTERNAT
TABLICA 4.2.1.2.2

Miejsce Odczyty L Odczyt sredni Li | Odczyt
Kat Sredni
sprowadz
« 1 2 3 4 5 6 7 ony Li0
1 0 30 33 30 30 28 30 28 29,9 29,9
2 0 30 28 30 32 28 34 31 30,4 30,4
3 0 34 30 30 31 30 32 28 30,7 30,7
4 0 30 28 28 30 31 33 30 30,0 30,0
5 0 30 30 33 30 32 30 28 30,4 30,4
6 0 34 30 30 31 28 31 30 30,6 30,6
7 0 32 34 31 31 30 32 28 31,1 31,1
8 0 30 30 33 30 31 33 30 31,0 31,0
9 0 34 30 30 31 32 30 28 30,7 30,7
10 0 30 33 30 30 28 30 32 30,4 30,4
Srednia 30,5
Odchylenie
standardowe
liczby odbicia 0,40
Wspoiczynnik
fc = 30,5[0,0409*30,5(0,01"2+1)-0,915 +7,4/30,5] = 17,2 MPa zmiennosci 1%




